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Precalculus — MP1 Quarterly Review #3

Name KEV

Date

L.

Period

Given f(x)=x"-2x+1, find f(x-3).

Lix-3)= (X-92EX3) +1 =

This will NOT be collected and graded tomorrow! Study for your quarterly Sections 1.4 — 1.9, and 4.1.

(X-3) (X-3N-2X+C 41/
X2=LX 49 —2X +7

=| X% -8X+ 16
2. Find the domain of h(x):ﬁﬁé ‘f ;; .
& O 4
E OJ 6)\, t LJ w) G‘. L] L] | Al L L] 1 Y ] 9
© 123 4 Se¢ v
3. Find the domain of g(x)=+/36+2x .4~ = 0O
36t2x =20
2X 2 -3¢ L-18,2)
2 2
X2 -18
4. Sketch the graph of f(x)=—-x'+2. Give the domain and range in interval notation.
pix) = X3 D: (~#,80)
x\Y yY-ojy+2 R.! (~a0,00)
\|-%
: X g (o]e
5. Use the graph of /(x)=|x| to graph The following: (a) h(x+4) (b) h(-=x)+1
. Pix) = X1 hix) b) pix)= Xl O©
” ; 4 X- X -1 1] 91!
2 A . | H -2 2
e e SR R e R H E'a“""of 0
£ AL
s 212
X g
6. Given f(x)=3x+7 and g(x)=2x" -5, find the following:  (a) (g— /f)(x) (b) (f-g)x)
a) 9(x) - £1x) b) £(x) -9ix)
= 2x%-5 - (3X+77) = (3x+7) L2x*-93)
= 2x2-35 ~3X -7 T Lx3-15)X +14¥*-3S
= 2x2-3x-12 = X3 41Yyx 2 -ISX-3F
7. Given r(x)=x"=2x+16 and s(x)=2x+3, find r(s(x)).
((2X+3) = (2x43)>C2(2X+3)+ 16
= (2X13)D(2X43) - 4y X-06 + 16
= X2 412X+9-4¥X+10 = |Yx2 + X +/9
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8. Given f(x)=x’+7,find /' (x).

Y= x3+7
=y?3
P I Ll

y=Jx-7

9. Determine the intervals over which the function f(x)=(x—2)+3 is increasing, decreasing, or

constant. Veriex l’,a)
Decreasing! (-2 2)
Increasing! (2,20)

08 6 42

t‘i <6 810

L8 Y

=)

10. Determine whether the following functions are even, odd, or neither:

(a) gx)=x"+4x-7 (b) h(x)=3x"'-21x* 2
gi-x) = xY¥ +Hl-x)-7 hi-X) = 3¢-X)7-21X)

= -x% -~y x-7 = 3x7-21x?

F -9lx) = 9(x) = hix) éven
nNeither 5

11. Verify algebraically\,jl_uy = g.\‘s +2 and g(x)= ,»‘Ix; are inverse functions. s

= 5) X2 ) " +2 :\3’3)(5-\-2-2. 1nce
= 3(&2)42 and

- ~ =
= X-2+2 NE" R

the funetions
™ _ _ = IxS = XY 1 g jnverses,
12. True/False: if a function has an inverse then it must pass both the vertical and horizontal line tests.

TRUL

13. Express 350" in radian measure.

350°, MTred. =| 3sm
I1g0° 18

14. Find one positive and one negative coterminal angle to 2(7” i MULNIPLES of 360° o 2T

ST L am. 29 = 274187 - 20T
q 9 9 q C]
QT _ 2T = QT _ Igm & 1=
— 3 9 L:_‘H‘
15. Convert 135°14'12" to decimal form.

135,237
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